

On The Diagonalization Problem of Weak Fuzzy Complex Matrices Based On a Special Isomorphism

Maretta Sarkis^{1,*}

¹Abu Dhabi University, Abu Dhabi, UAE

Sarkismaretta1990@gmail.com

Abstract

In this paper, we study the diagonalization problem of weak fuzzy complex matrices. To solve this problem we build a special algebraic isomorphism between the ring of weak fuzzy complex matrices and the direct product of the classical ring of real-entries matrices with itself, then we use it to solve the diagonalization problem by using the classical diagonalization problem for real matrices with the inverse isomorphism formula. Also, we illustrate many examples to explain the validity of our method.

Keywords: Weak fuzzy complex matrix; Weak fuzzy complex number; Diagonalization; Isomorphism

1. Introduction

The concept of weak fuzzy complex numbers was presented in [1] as a novel extension of real numbers in a similar way of building split-complex or dual numbers.

Many authors studied this class of generalized numbers, we can find weak fuzzy complex spaces [6], weak fuzzy complex numbers for computers [3], and even in number theory [4-5].

Weak fuzzy complex matrices were defined in [2], where they were handled by computing inverses and determinants.

In this work, we continue the previous efforts about studying weak fuzzy complex structures, where we study the diagonalization problem of weak fuzzy complex matrices. To solve this problem we build a special algebraic isomorphism between the ring of weak fuzzy complex matrices and the direct product of the classical ring of real-entries matrices with itself in a similar way of building the isomorphism between weak fuzzy complex numbers and the direct product of the real field with itself in [7], then we use it to solve the diagonalization problem by using the classical diagonalization problem for real matrices with the inverse isomorphism formula.

For the definition and the elementary properties of weak fuzzy complex matrices, see [2].

2. Main Discussion

Definition:

Let $A = (a_{ij} + Jb_{ij})_{1 \le i,j \le n}$ be a weak fuzzy complex square real matrix with $a_{ij}, b_{ij} \in \mathbb{R}$, then A is called diagonalizable if and only if there exists a diagonal weak fuzzy complex matrix D, and an invertible weak fuzzy complex matrix X such that:

$$A = X^{-1}DX.$$

Remark:

For any weak fuzzy complex matrix A, we can write it as $A = A_1 + A_2 J$; A_1, A_2 are $n \times n$ square classical matrices.

DOI: https://doi.org/10.54216/GJMSA.0110203

Received: December 07, 2023 Revised: April 05, 2024 Accepted: July 27, 2024

Definition:

Let W_n be a ring of all square $n \times n$ weak fuzzy complex matrices, we define:

$$f: W_{\mu} \to \mathbb{R}_{n \times n} \times \mathbb{R}_{n \times n}$$
 such that:

$$f(A_1 + A_2 J) = (A_1 - \sqrt{t} A_2, A_1 + \sqrt{t} A_2)$$

Theorem:

The mapping (f) is a ring isomorphism.

Proof:

Assume that $A = A_1 + A_2J$, $B = B_1 + B_2J$, then:

$$A_1 = B_1, A_2 = B_2, A_1 - A_2\sqrt{t} = B_1 - B_2\sqrt{t}, A_1 + A_2\sqrt{t} = B_1 + B_2\sqrt{t}$$
, hence $f(A) = f(B)$, and (f) is well defined.

$$A + B = (A_1 + B_1) + J(A_2 + B_2),$$

$$f(A+B) = (A_1 + B_1 - \sqrt{t}(A_2 + B_2), A_1 + B_1 + \sqrt{t}(A_2 + B_2)) = (A_1 - A_2\sqrt{t}, A_1 + A_2\sqrt{t}) + (B_1 - B_2\sqrt{t}, B_1 + B_2\sqrt{t}) = f(A) + f(B).$$

$$A \times B = (A_1 + A_2 I) \times (B_1 + B_2 I) = (A_1 B_1 + t A_2 B_2) + I(A_1 B_2 + A_2 B_1)$$

$$f(A \times B) = (k_1, k_2) : k_1 = A_1 B_1 + t A_2 B_2 - \sqrt{t} (A_1 B_2 + A_2 B_1) = (A_1 - \sqrt{t} A_2) (B_1 - \sqrt{t} B_2), k_2$$

= $A_1 B_1 + t A_2 B_2 + \sqrt{t} (A_1 B_2 + A_2 B_1) = (A_1 + \sqrt{t} A_2) (B_1 + \sqrt{t} B_2),$

Thus $f(A \times B) = f(A) \times f(B)$.

If
$$f(A) = (0,0)$$
, then: $\begin{cases} A_1 - \sqrt{t}A_2 \\ A_1 + \sqrt{t}A_2 \end{cases} \Longrightarrow \{A_1 = A_2 = 0 \text{ and } k_{er}(f) = \{0\}.$

For every $(C_1, C_2) \in R_{n \times n} \times R_{n \times n}$, there exists:

$$A = \frac{1}{2} (C_1 + C_2) + \frac{1}{2\sqrt{t}} J(C_1 - C_2) \in W_\mu$$
 such that:

$$f(A) = (C_1, C_2)$$
, thus (f) is a bijection, and $W_\mu \cong R_{n \times n} \times R_{n \times n}$.

Eigen values and vectors:

Let $X = X_1 + X_2J$ be an eigenvector of $A = A_1 + A_2J$ with $a = a_1 + a_2J \in W_c$ as the corresponding eigen value, then: $A \cdot X = a \cdot X$.

By using the mapping (f), we can get:

$$\begin{cases} (A_1 - \sqrt{t}A_2)(X_1 - \sqrt{t}X_2) = (a_1 - \sqrt{t}a_2)(X_1 - \sqrt{t}X_2) \\ (A_1 + \sqrt{t}A_2)(X_1 + \sqrt{t}X_2) = (a_1 + \sqrt{t}a_2)(X_1 + \sqrt{t}X_2) \end{cases}$$

Thus:

 $X_1 - \sqrt{t}X_2$ is an eigen vector of $A_1 - \sqrt{t}A_2$ with $a_1 - \sqrt{t}a_2$ as the corresponding eigen value.

 $X_1 + \sqrt{t}X_2$ is an eigen vector of $A_1 + \sqrt{t}A_2$ with $a_1 + \sqrt{t}a_2$ as the corresponding eigen value.

Example:

For $J^2 = t = \frac{1}{4}$, let us try to compute the eigen values/vectors of

$$A = \begin{pmatrix} 2+4J & 2J \\ 12+2J & -4+2J \end{pmatrix} = \begin{pmatrix} 2 & 0 \\ 1 & -4 \end{pmatrix} + J \begin{pmatrix} 4 & 2 \\ 2 & 2 \end{pmatrix}.$$

$$A_1 - \sqrt{t}A_2 = \begin{pmatrix} 2 & 0 \\ 1 & -4 \end{pmatrix} - \frac{1}{2} \begin{pmatrix} 4 & 2 \\ 2 & 2 \end{pmatrix} = \begin{pmatrix} 0 & -1 \\ 0 & -5 \end{pmatrix}.$$

$$\det\left[\left(A_1 - \sqrt{t}A_2 - cI\right)\right] = 0 \Longrightarrow \begin{vmatrix} -c & -1 \\ 0 & -5 - c \end{vmatrix} = 0 \Longrightarrow -c(-5 - c) = 0 \Longrightarrow c \in \{0, -5\}.$$

For the eigenvectors of $A_1 - \sqrt{+}A_2$:

23

$$\begin{pmatrix} 0 & -1 \\ 0 & -5 \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix} \Rightarrow y = 0 \Rightarrow V_1 = (1,0)$$

$$\begin{pmatrix} 5 & -1 \\ 0 & 0 \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix} \Rightarrow y = 5x \Rightarrow V_2 = (1,5)$$

$$A_1 + \sqrt{t}A_2 = \begin{pmatrix} 2 & 0 \\ 1 & -4 \end{pmatrix} + \frac{1}{2} \begin{pmatrix} 4 & 2 \\ 2 & 2 \end{pmatrix} = \begin{pmatrix} 4 & 1 \\ 2 & -3 \end{pmatrix}.$$

$$\begin{vmatrix} 4 - c & 1 \\ 2 & -3 - c \end{vmatrix} = 0 \Rightarrow -12 - 4c + 3c + c^2 - 2 = 0 \Rightarrow c^2 - c - 14 = 0 \Rightarrow c \in \left\{ \frac{1 + \sqrt{57}}{2}, \frac{1 - \sqrt{57}}{2} \right\}$$

For the eigenvectors of $A_1 + \sqrt{+}A_2$:

$$\begin{pmatrix} \frac{7-\sqrt{57}}{2} & 1\\ 2 & \frac{-7-\sqrt{57}}{2} \end{pmatrix} {x \choose y} = {0 \choose 0} \Rightarrow$$

$$y + \left(\frac{7-\sqrt{57}}{2}\right)x = 0 \Rightarrow y = \frac{-7+\sqrt{57}}{2}x, V_1' = \left(1, \frac{-7+\sqrt{57}}{2}\right)$$

$$\begin{pmatrix} \frac{7+\sqrt{57}}{2} & 1\\ 2 & \frac{-7+\sqrt{57}}{2} \end{pmatrix} {x \choose y} = {0 \choose 0} \Rightarrow$$

$$\begin{pmatrix} \frac{7+\sqrt{57}}{2} & 1\\ 2 & \frac{-7+\sqrt{57}}{2} \end{pmatrix}$$

Let $a = a_1 + a_2 J$ be an eigen value of A with $X = X_1 + X_2 J$ as the eigen vector, then:

$$\begin{cases} a_1 - \sqrt{t}a_2 = a_1 - \frac{1}{2}a_2 \in \{0, -5\} \\ a_1 + \sqrt{t}a_2 = a_1 + \frac{1}{2}a_2 \in \left\{\frac{1 + \sqrt{57}}{2}, \frac{1 - \sqrt{57}}{2}\right\} \end{cases}$$

$$\text{If } \begin{cases} a_1 - \frac{a_2}{2} = 0 \\ a_1 + \frac{a_2}{2} = \frac{1 + \sqrt{57}}{2} \end{cases} \Rightarrow \begin{cases} a_1 = \frac{1 + \sqrt{57}}{4} \\ a_2 = \frac{1 + \sqrt{57}}{2} \end{cases} \Rightarrow a = \frac{1 + \sqrt{57}}{4} (1 + 2J).$$

$$\text{If } \begin{cases} a_1 - \frac{a_2}{2} = 0 \\ a_1 + \frac{a_2}{2} = \frac{1 - \sqrt{57}}{2} \end{cases} \Rightarrow \begin{cases} a_1 = \frac{1 - \sqrt{57}}{4} \\ a_2 = \frac{1 - \sqrt{57}}{2} \end{cases} \Rightarrow a = \frac{1 - \sqrt{57}}{4} (1 + 2J).$$

$$\text{If } \begin{cases} a_1 - \frac{a_2}{2} = -5 \\ a_1 + \frac{a_2}{2} = \frac{1 + \sqrt{57}}{2} \end{cases} \Rightarrow \begin{cases} a_1 = \frac{-9 + \sqrt{57}}{4} \\ a_2 = \frac{11 + \sqrt{57}}{2} \end{cases} \Rightarrow a = \frac{-9 + \sqrt{57}}{4} + \frac{11 + \sqrt{57}}{2}J.$$

$$\text{If } \begin{cases} a_1 - \frac{a_2}{2} = -5 \\ a_1 + \frac{a_2}{2} = \frac{1 - \sqrt{57}}{2} \end{cases} \Rightarrow \begin{cases} a_1 = \frac{-9 - \sqrt{57}}{4} \\ a_2 = \frac{11 - \sqrt{57}}{2} \end{cases} \Rightarrow a = \frac{-9 - \sqrt{57}}{4} + \frac{11 - \sqrt{57}}{2}J.$$

For the eigen vectors

$$\begin{cases} X_1 - \frac{1}{2}X_2 \in \{V_1 = (1,0), V_2 = (1,5)\} \\ X_1 + \frac{1}{2}X_2 \in \left\{ V_1' = \left(1, \frac{-7 + \sqrt{57}}{2}\right), V_2' = \left(1, \frac{-7 - \sqrt{57}}{2}\right) \right\} \end{cases}$$

$$\begin{split} & \text{If} \begin{cases} X_1 - \frac{1}{2}X_2 = (1,0) \\ X_1 + \frac{1}{2}X_2 = \left(1, \frac{-7 + \sqrt{57}}{2}\right) \end{cases} \Rightarrow \begin{cases} X_1 = \left(1, \frac{-7 + \sqrt{57}}{4}\right) \\ X_2 = \left(0, \frac{-7 + \sqrt{57}}{2}\right) \end{cases} \Rightarrow X = \left(1, \frac{-7 + \sqrt{57}}{4} + \frac{-7 + \sqrt{57}}{2}J\right). \\ & \text{If} \begin{cases} X_1 - \frac{1}{2}X_2 = (1,0) \\ X_1 + \frac{1}{2}X_2 = \left(1, \frac{-7 - \sqrt{57}}{2}\right) \end{cases} \Rightarrow \begin{cases} X_1 = \left(1, \frac{-7 - \sqrt{57}}{4}\right) \\ X_2 = \left(0, \frac{-7 - \sqrt{57}}{2}\right) \end{cases} \Rightarrow X = \left(1, \frac{-7 - \sqrt{57}}{4} + \frac{-7 - \sqrt{57}}{2}J\right). \\ & \text{If} \begin{cases} X_1 - \frac{1}{2}X_2 = (1,5) \\ X_1 + \frac{1}{2}X_2 = \left(1, \frac{-7 + \sqrt{57}}{2}\right) \end{cases} \Rightarrow \begin{cases} X_1 = \left(1, \frac{3 + \sqrt{57}}{4}\right) \\ X_2 = \left(0, \frac{-17 + \sqrt{57}}{2}\right) \end{cases} \Rightarrow X = \left(1, \frac{3 + \sqrt{57}}{4} + \frac{-17 + \sqrt{57}}{2}J\right). \\ & \text{If} \begin{cases} X_1 - \frac{1}{2}X_2 = (1,5) \\ X_1 + \frac{1}{2}X_2 = (1,5) \end{cases} \Rightarrow \begin{cases} X_1 = \left(1, \frac{3 - \sqrt{57}}{4}\right) \\ X_2 = \left(0, \frac{-17 - \sqrt{57}}{2}\right) \end{cases} \Rightarrow X = \left(1, \frac{3 - \sqrt{57}}{4} + \frac{-17 - \sqrt{57}}{2}J\right). \end{cases} \end{split}$$

3. Diagonal zing Weak Fuzzy Complex Matrices

According to the definition of mapping (f), we can obtain the following result:

A weak fuzzy complex matrix $A = A_1 + A_2 J$ is diagonalizable if and only if: $\begin{cases} A_1 - \sqrt{t} A_2 \\ A_1 + \sqrt{t} A_2 \end{cases}$ are diagonalizable.

To diagonalize $A = A_1 + A_2 J$, we diagonalize $\begin{cases} A_1 - \sqrt{t} A_2 \\ A_1 + \sqrt{t} A_2 \end{cases}$ as follows:

$$\begin{cases} A_1-\sqrt{t}A_2=T_1^{-1}D_1T_1 \ ; \ T_1 \ \text{is an ivertible matrix} \\ A_1+\sqrt{t}A_2=T_2^{-1}D_2T_2 \ ; \ T_2 \ \text{is an ivertible matrix} \end{cases}$$

 D_1 , D_2 are diagonal matrices.

By using the isomorphism (f), we can write:

$$f(A) = (A_1 - \sqrt{+}A_2, A_1 + \sqrt{+}A_2) =$$

$$(T_1^{-1}D_1T_1, T_2^{-1}D_2T_2) =$$

$$(T_1^{-1}, T_2^{-1}) \times (D_1, D_2) \times (T_1, T_2)$$

there for:

$$A = f^{-1}(T_1^{-1}, T_2^{-1}) \times f^{-1}(D_1, D_2) \times f^{-1}(T_1, T_2) = \left[\frac{1}{2}(T_1^{-1} + T_2^{-1}) + \frac{1}{2\sqrt{t}}J(T_2^{-1} - T_1^{-1})\right] \times \left[\frac{1}{2}(D_1 + D_2) + \frac{1}{2\sqrt{t}}J(D_2 - D_1)\right] \times \left[\frac{1}{2}(T_1 + T_2) + \frac{1}{2\sqrt{t}}J(T_2 - T_1)\right].$$

Example:

Let's diagonalize the matrix:

$$A = \begin{pmatrix} \frac{5}{2} - \frac{3}{2}J & 1 - 3J \\ \frac{1}{2} + \frac{3}{2}J & \frac{5}{2} + \frac{9}{2}J \end{pmatrix} = \begin{pmatrix} \frac{5}{2} & 1 \\ \frac{1}{2} & \frac{5}{2} \end{pmatrix} + J \begin{pmatrix} -\frac{3}{2} & -3 \\ \frac{3}{2} & \frac{9}{2} \end{pmatrix} = A_1 + A_2J ; J^2 = t = \frac{1}{9}.$$

$$\begin{cases} A_1 - \sqrt{t}A_2 = A_1 - \frac{1}{3}A_2J = \begin{pmatrix} 3 & 2 \\ 0 & 1 \end{pmatrix} \\ A_1 + \sqrt{t}A_2 = A_1 + \frac{1}{3}A_2J = \begin{pmatrix} 2 & 0 \\ 1 & 4 \end{pmatrix}$$

The eigen values of $A_1 - \sqrt{+}A_2$ are: {3.1}

$$\begin{pmatrix} 0 & 2 \\ 0 & -2 \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix} \Rightarrow y = 0 \Rightarrow V_3 = (1,0)$$
$$\begin{pmatrix} 2 & -2 \\ 0 & 0 \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix} \Rightarrow x = y \Rightarrow V_1 = (1,1)$$

$$\Rightarrow T_1 = \begin{pmatrix} 1 & 1 \\ 0 & 1 \end{pmatrix}, T_1^{-1} = \begin{pmatrix} 1 & -1 \\ 0 & 1 \end{pmatrix}$$

The eigen values of $A_1 + \sqrt{t}A_2$ are: {2,4}.

$$\begin{pmatrix} 0 & 0 \\ 1 & 2 \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix} \Rightarrow x = -2y \Rightarrow V_2 = \begin{pmatrix} -2 \\ 1 \end{pmatrix}$$

$$\begin{pmatrix} -2 & 0 \\ 1 & 0 \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix} \Rightarrow x = 0 \Rightarrow V_4 = \begin{pmatrix} 0 \\ 1 \end{pmatrix}$$

$$\Rightarrow T_2 = \begin{pmatrix} 1 & 0 \\ -1 & -2 \end{pmatrix}, T_2^{-1} = \frac{-1}{2} \begin{pmatrix} -2 & 0 \\ 1 & 1 \end{pmatrix} = \begin{pmatrix} 1 & 0 \\ \frac{-1}{2} & \frac{-1}{2} \end{pmatrix}$$

$$T = \frac{1}{2}(T_1 + T_2) + \frac{1}{2\sqrt{t}}J(T_2 - T_1) = \frac{1}{2}\begin{pmatrix} 2 & 1 \\ -1 & -1 \end{pmatrix} + \frac{3}{2}J\begin{pmatrix} 0 & -1 \\ -1 & -3 \end{pmatrix} = \begin{pmatrix} 1 & \frac{1}{2} - \frac{3}{2}J \\ \frac{-1}{2} - \frac{3}{2}J & \frac{-1}{2} - \frac{9}{2}J \end{pmatrix}$$

$$T^{-1} = \frac{1}{2}(T_1^{-1} + T_2^{-1}) + \frac{1}{2\sqrt{t}}J(T_2^{-1} - T_1^{-1}) = \frac{1}{2}\begin{pmatrix} 2 & -1 \\ -\frac{1}{2} & \frac{1}{2} \end{pmatrix} + \frac{3}{2}J\begin{pmatrix} 0 & 1 \\ -\frac{1}{2} & -\frac{3}{2} \end{pmatrix} = \begin{pmatrix} 1 & \frac{-1}{2} + \frac{3}{2}J \\ -\frac{1}{4} - \frac{3}{4}J & \frac{1}{4} - \frac{9}{4}J \end{pmatrix}$$

$$D = \frac{1}{2}(D_1 + D_2) + \frac{1}{2\sqrt{t}}J(D_2 - D_1) = \frac{1}{2} \begin{pmatrix} 5 & 0 \\ 0 & 5 \end{pmatrix} + \frac{3}{2}J\begin{pmatrix} -1 & 0 \\ 0 & 3 \end{pmatrix} = \begin{pmatrix} \frac{5}{2} - \frac{3}{2}J & 0 \\ 0 & \frac{5}{2} + \frac{9}{2}J \end{pmatrix}.$$

$$A = T^{-1} \times D \times T.$$

Example:

For
$$J^2 = t = \frac{1}{4}$$
, take: $A = A_1 + A_2 J = \begin{pmatrix} -1 & 1 & 1 \\ 0 & 0 & \frac{1}{2} \\ 0 & 1 & 0 \end{pmatrix} + J \begin{pmatrix} -6 & 0 & 2 \\ 0 & -6 & -1 \\ 0 & 2 & -2 \end{pmatrix} = \begin{pmatrix} -1 - 6J & 1 & 1 + 2J \\ 0 & -6J & \frac{1}{2} - J \\ 0 & 1 + 2J & -2J \end{pmatrix}$

We have:

$$A_{1} - \sqrt{t}A_{2} = \begin{pmatrix} 2 & 1 & 0 \\ 0 & 3 & 1 \\ 0 & 0 & 1 \end{pmatrix}, A_{1} + \sqrt{t}A_{2} = \begin{pmatrix} -4 & 1 & 2 \\ 0 & -3 & 0 \\ 0 & 2 & -1 \end{pmatrix}$$

The eigen values of $A_1 - \sqrt{t}A_2$ are:

The eigen vectors of $A_1 - \sqrt{t}A_2$ are:

$${V_2 = (1,0,0), V_3 = (0,1,0), V_1 = (0,0,1)}$$
 and:

$$A_1 - \sqrt{t}A_2 = \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix} (A_1 - \sqrt{t}A_2) \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix},$$

where
$$T_1 = U_{3\times 3}$$
, $T^{-1} = U_{3\times 3}$, $D_1 = A_1 - \sqrt{t}A_2$.

The eigen values of $A_1 + \sqrt{t}A_2$ are:

$$\{-4, -3, -1\}$$

For the eigen vectors:
$$\begin{pmatrix} 0 & 1 & 2 \\ 0 & 1 & 0 \\ 0 & 2 & 3 \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \\ 0 \end{pmatrix} \Rightarrow \begin{cases} y + 2z = 0 \\ y = 0 \\ 2y + 3z = 0 \end{cases} \Rightarrow y = z = 0 \Rightarrow V_{-4} = (1,0,0).$$

$$\begin{pmatrix} -1 & 1 & 2 \\ 0 & 0 & 0 \\ 0 & 2 & 2 \end{pmatrix} \begin{pmatrix} x \\ y \\ z \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \\ 0 \end{pmatrix} \Rightarrow \begin{cases} -x + y + 2z = 0 \\ 2y + 2z = 0 \end{cases} \Rightarrow \begin{cases} z = -y \\ x = -y \end{cases} \Rightarrow V_{-3} = (-1,1,-1).$$

$$\begin{pmatrix} -3 & 1 & 2 \\ 0 & -2 & 0 \\ 0 & 2 & 0 \end{pmatrix} \begin{pmatrix} x \\ y \\ z \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \\ 0 \end{pmatrix} \Rightarrow \begin{cases} -3x + y + 2z = 0 \\ -2y = 0 \end{cases} \Rightarrow \begin{cases} y = 0 \\ z = \frac{3}{2}x \end{cases} \Rightarrow V_{-1} = \begin{pmatrix} 1,0,\frac{3}{2} \end{pmatrix}.$$
Thus:
$$D_2 = \begin{pmatrix} -4 & 0 & 0 \\ 0 & -3 & 0 \\ 0 & 0 & -1 \end{pmatrix}, T_2 = \begin{pmatrix} 1 & -1 & 1 \\ 0 & 1 & 0 \\ 0 & -1 & \frac{3}{2} \end{pmatrix}.$$

Hence D, T are easy to be computed.

4. Conclusion

In this paper, we studied the diagonalization problem of weak fuzzy complex matrices. To solve this problem we built a special algebraic isomorphism between the ring of weak fuzzy complex matrices and the direct product of the classical ring of real-entries matrices with itself, then we used it to solve the diagonalization problem by using the classical diagonalization problem for real matrices with the inverse isomorphism formula. Also, we illustrated many examples to explain the validity of our method.

References

- [1] Hatip, A. (2023). An introduction to weak fuzzy complex numbers. *Galoitica journal of mathematical structures and applications*, *3*(1), 8–13.
- [2] Alhasan, Y. A., Alfahal, A. M. A., Abdulfatah, R. A., Nordo, G., & Zahra, M. M. A. (2023). On some novel results about weak fuzzy complex matrices. *International journal of neutrosophic science*, 21(1), 134–141.
- [3] Razouk, L., Mahmoud, S., & Ali, M. (2023). A computer program for the system of weak fuzzy complex numbers and their arithmetic operations using Python. *Galoitica: journal of mathematical structures and applications*, 8(1), 45–51.
- [4] Alfahal, A., Abobala, M., Alhasan, Y., & Abdulfatah, R. (2023). Generating weak fuzzy complex and anti-weak fuzzy complex integer solutions for pythagoras diophantine equation X2+Y2=Z2. *International journal of neutrosophic science*, 22(1), 8–14.
- [5] Galarza, F. C., Flores, M. L., Rivero, D. P., & Abobala, M. (2023). On weak fuzzy complex Pythagoras quadruples. *International journal of neutrosophic science*, 22(2), 108–113.
- [6] Alhasan, Y., Xu, L., Abdulfatah, R., & Alfahal, A. (2023). The geometrical characterization for the solutions of a vectorial equation by using weak fuzzy complex numbers and other generalizations of real numbers. *International journal of neutrosophic science (IJNS)*, 21, 155–159.
- [7] Razouk, L., Mahmoud, S., & Ali, M. (2024). On the foundations of weak fuzzy complex-real functions. *Journal of Fuzzy Extension and Applications*, 5(1), 116-140. doi: 10.22105/jfea.2024.435955.1369.